Carolina Biological Supply Co Curriculum Sales Rep: Dan Ruttle, RCSM Mid-Atlantic 2700 York Rd, Burlington, NC 27215 Phone: 267-229-2748 Call: 800.334.5551 Email: dan.ruttle@carolina.com Date: 1/10/2024 Fax: 800.222.7112 23 Carolina™ Curriculum Quote Proposal Prepared for: **Proposal Valid Through:** 8/1/2024 Wendy Gray, Science 6-12 Curriculum Coordinator Requested Delivery Date: TBD Warren County School District Phone: (814)723 - 6900 Ext. 1077 **Address** Email: GrayW@wcsdpa.org City, State, Zip Ship to: Beaty-Warren Middle School 2 East 3rd Ave. Warren, PA 16365 Quote Summary \$ **Refurbishment Vouchers** 69,610.00 \$ Student Editions 9,513.20 \$ 20,300.00 **Digital Resources** \$ Subtotal: 99,423.20 \$ FREE Professional Development Days Value: 7.500.00 Shipping & Handling Savings: \$ 190.26 Note: To ensure savings, please send order to sales rep listed above for processing. **Total Savings:** 7,690.26 \$ Shipping & Handling @ 8%: 761.06 State tax, if applicable, has not been Ś Quote Proposal Total: 100.184.26 factored into this proposal. Type Item# **Unit Price** Description **Extended Price** Qty Carolina Certified Version OpenSciEd Sixth Grade 523203A 6.2 Thermal Energy Carolina OpenSciEd Non-Consumable Student Edition, SB 69.95 8 Ś 559.60 8/pk 6.2 Thermal Energy Carolina OpenSciEd 5-Class Refurbishment Voucher 335.95 10 \$ 3.359.50 523204U5DV 140.00 523206U5 6.2 Thermal Energy Carolina OpenSciEd 5-Class Teacher and Student Digital **DGTL** 5 Ś 700.00 Access, 1 Year License 6.3 Weather, Climate and Water Cycling Carolina OpenSciEd Non-SB 69.95 Ś 559.60 523303A Consumable Student Edition, 8/pk VRFB \$ 523304U5DV 6.3 Weather, Climate and Water Cycling Carolina OpenSciEd 5-Class 302.95 10 3,029.50 Refurbishment Voucher \$ 6.3 Weather, Climate and Water Cycling Carolina OpenSciEd 5-Class DGTL 140.00 5 700.00 523306U5 Teacher and Student Digital Access, 1 Year License SB 69.95 Ś 6.4 Plate Tectonics & Rock Cycling Carolina OpenSciEd Non-Consumable 8 559.60 523403A Student Edition, 8/pk 523404U5DV 6.4 Plate Tectonics & Rock Cycling Carolina OpenSciEd 5-Class VRFB 111.95 10 Ś 1,119.50 Refurbishment Voucher 6.4 Plate Tectonics & Rock Cycling Carolina OpenSciEd 5-Class Teacher and DGTL 140.00 5 Ś 700.00 523406U5 Student Digital Access, 1 Year License \$ 523503A 6.5 Natural Hazards Carolina OpenSciEd Non-Consumable Student Edition, SB 69.95 8 559.60 8/pk 6.5 Natural Hazards Carolina OpenSciEd 5-Class Refurbishment Voucher VRFB 54.95 Ś 549.50 523504U5DV 10 6.5 Natural Hazards Carolina OpenSciEd 5-Class Teacher and Student Digital **DGTL** S 700.00 523506U5 140,00 5

Access, 1 Year License

524603A	6.6 Cells & Systems Carolina OpenSciEd Non-Consumable Student Edition,	SB	\$	69.95	8	\$ 559.60
524604U5DV	8/pk 6.6 Cells & Systems Carolina OpenSciEd 5-Class Refurbishment Voucher	VRFB	\$	163.95	10	\$ 1,639.50
524606U5	6.6 Cells & Systems Carolina OpenSciEd 5-Class Teacher and Student Digital Access, 1 Year License	DGTL	\$	140.00	5	\$ 700.00
		Sixth Grad	e Sub	total	\$	15,995.50
	Seventh Grade					
523603A	7.1 Chemical Reactions & Matter Carolina OpenSciEd Non-Consumable Student Edition, 8/pk	SB	\$	69.95	8	\$ 559.60
523604U5DV	7.1 Chemical Reactions & Matter Carolina OpenSciEd 5-Class Refurbishment Voucher	VRFB	\$	533.95	15	\$ 8,009.25
523606U5	7.1 Chemical Reactions & Matter Carolina OpenSciEd 5-Class Teacher and Student Digital Access, 1 Year License	DGTL	\$	140.00	15	\$ 2,100.00
523703A	7.2 Chemical Reactions & Energy Carolina OpenSciEd Non-Consumable Student Edition, 8/pk	SB	\$	69.95	8	\$ 559.60
523704U5DV	7.2 Chemical Reactions & Energy Carolina OpenSciEd 5-Class Refurbishment Voucher	VRFB	\$	559.95	15	\$ 8,399.25
523706U5	7.2 Chemical Reactions & Energy Carolina OpenSciEd 5-Class Teacher and Student Digital Access, 1 Year License	DGTL	\$	140.00	15	\$ 2,100.00
523803A	7.3 Metabolic Reactions Carolina OpenSciEd Non-Consumable Student	SB	\$	69.95	8	\$ 559.60
523804U5DV	Edition, 8/pk 7.3 Metabolic Reactions Carolina OpenSciEd 5-Class Refurbishment Voucher	VRFB	\$	335.95	15	\$ 5,039.25
523806U5	7.3 Metabolic Reactions Carolina OpenSciEd 5-Class Teacher and Student	DGTL	\$	140.00	15	\$ 2,100.00
523903A	Digital Access, 1 Year License 7.4 Matter Cycling & Photosynthesis Carolina OpenSciEd Non-Consumable	SB	\$	69.95	8	\$ 559.60
523904U5DV	Student Edition, 8/pk 7.4 Matter Cycling & Photosynthesis Carolina OpenSciEd 5-Class	VRFB	\$	492.95	15	\$ 7,394.25
523906U5	Refurbishment Voucher 7.4 Matter Cycling & Photosynthesis Carolina OpenSciEd 5-Class Teacher	DGTL	\$	140.00	15	\$ 2,100.00
524003A	and Student Digital Access, 1 Year License 7.5 Ecosystem Dynamics & Biodiversity Carolina OpenSciEd Non-	SB	\$	69.95	8	\$ 559.60
524004U5DV	Consumable Student Edition, 8/pk 7.5 Ecosystem Dynamics & Biodiversity Carolina OpenSciEd 5-Class	VRFB	\$	218.95	15	\$ 3,284.25
524006U5	Refurbishment Voucher 7.5 Ecosystem Dynamics & Biodiversity Carolina OpenSciEd 5-Class Teacher	DGTL	\$	140.00	15	\$ 2,100.00
524703A	and Student Digital Access, 1 Year License 7.6 Natural Resources & Human Impact Carolina OpenSciEd Non-	SB	\$	69.95	8	\$ 559.60
524704U5DV	Consumable Student Edition, 8/pk 7.6 Natural Resources & Human Impact Carolina OpenSciEd 5-Class	VRFB	\$	313.95	15	\$ 4,709.25
524706U5	Refurbishment Voucher 7.6 Natural Resources & Human Impact Carolina OpenSciEd 5-Class Teacher	DGTL	\$	140.00	15	\$ 2,100.00
	and Student Digital Access, 1 Year License	Seventh G	rade S	Subtotal	\$	52,793.10
	Eighth Grade					
524103A	8.1 Contact Forces Carolina OpenSciEd Non-Consumable Student Edition,	SB	\$	69.95	8	\$ 559.60
524104U5DV	8/pk 8.1 Contact Forces Carolina OpenSciEd 5-Class Refurbishment Voucher	VRFB	\$	335.95	10	\$ 3,359.50
524106U5	8.1 Contact Forces Carolina OpenSciEd 5-Class Teacher and Student Digital	DGTL	\$	140.00	5	\$ 700.00
524203A	Access, 1 Year License 8.2 Sound Waves Carolina OpenSciEd Non-Consumable Student Edition, 8/pk		\$	69.95	8	\$ 559.60
524204U5DV	8.2 Sound Waves Carolina OpenSciEd 5-Class Refurbishment Voucher	VRFB	\$	111.95	10	\$ 1,119.50
524206U5	8.2 Sound Waves Carolina OpenSciEd 5-Class Teacher and Student Digital Access, 1 Year License	DGTL	\$	140.00	5	\$ 700.00
524303A	8.3 Forces at a Distance Carolina OpenSciEd Non-Consumable Student Edition, 8/pk	SB	\$	69.95	8	\$ 559.60

524304U5DV	8.3 Forces at a Distance Carolina OpenSciEd 5-Class Refurbishment Voucher	VRFB	\$ 447.95	10	\$ 4,479.50
524306U5	8.3 Forces at a Distance Carolina OpenSciEd 5-Class Teacher and Student Digital Access, 1 Year License	DGTL	\$ 140.00	5	\$ 700.00
524403A	8.4 Earth in Space Carolina OpenSciEd Non-Consumable Student Edition, 8/pk	SB	\$ 69.95	8	\$ 559.60
524404U5DV	8.4 Earth in Space Carolina OpenSciEd 5-Class Refurbishment Voucher	VRFB	\$ 403.95	10	\$ 4,039.50
524406U5	8.4 Earth in Space Carolina OpenSciEd 5-Class Teacher and Student Digital Access, 1 Year License	DGTL	\$ 140.00	5	\$ 700.00
524503A	8.5 Genetics Carolina OpenSciEd Non-Consumable Student Edition, 8/pk	SB	\$ 69.95	8	\$ 559.60
524504U5DV	8.5 Genetics Carolina OpenSciEd 5-Class Refurbishment Voucher	VRFB	\$ 223.95	10	\$ 2,239.50
524506U5	8.5 Genetics Carolina OpenSciEd 5-Class Teacher and Student Digital Access, 1 Year License	DGTL	\$ 140.00	5	\$ 700.00
524803A	8.6 Natural Selection & Common Ancestry Carolina OpenSciEd Non- Consumable Student Edition, 8/pk	SB	\$ 69.95	8	\$ 559.60
524804U5DV	8.6 Natural Selection & Common Ancestry Carolina OpenSciEd 5-Class Refurbishment Voucher	VRFB	\$ 783.95	10	\$ 7,839.50
524806U5	8.6 Natural Selection & Common Ancestry Carolina OpenSciEd 5-Class Teacher and Student Digital Access, 1 Year License	DGTL	\$ 140.00	5	\$ 700.00

	Description	Unit Value	Qty	Extended Value
ProDev1	Professional Development (1 day/1 trainer)	\$ 2,500.00	3	\$ 7,500.00

#### **Notes:**

- 2. Professional development is on-site and customized to meet the needs of your educators.
- 3. Digital resource purchases and prepaid coupons such as vouchers and living material cards are non-refundable and are not redeemable for cash or credit. Vouchers do not expire and are redeemable only for the specific merchandise identified on the prepaid coupon or voucher.

**Eighth Grade Subtotal** 

30,634.60

Curriculum Sales Rep: Dan Ruttle, RCSM Mid-Atlantic Carolina Biological Supply Co 2700 York Rd, Burlington, NC 27215 Phone: 267-229-2748 Call: 800.334.5551 Email: dan.ruttle@carolina.com Fax: 800.222.7112 Date: 1/10/2024 23J Carolina™ Curriculum Quote Proposal Prepared for: **Proposal Valid Through:** 8/1/2024 Wendy Gray, Science 6-12 Curriculum Coordinator Requested Delivery Date: TBD Phone: (814)723 - 6900 Ext. 1077 Warren County School District Address Email: GrayW@wcsdpa.org City, State, Zip Ship to: Eisenhower Middle-High School 3700 Rt. 957 Russel, PA 16345 **Quote Summary Refurbishment Vouchers** \$ 26,481.50 Student Editions \$ 4,756.60 \$ **Digital Resources** 5,100.00 \$ Subtotal: 36,338.10 \$ FREE Professional Development Days Value: 2,500.00 \$ Shipping & Handling Savings: 95.13 Note: To ensure savings, please send order to sales rep listed above for processing. **Total Savings:** \$ 2,595.13 Shipping & Handling @ 8%: \$ 380.53 State tax, if applicable, has not been \$ **Quote Proposal Total:** 36,718.63 factored into this proposal. Item# Description Type **Unit Price** Qty **Extended Price** Carolina Certified Version OpenSciEd Sixth Grade 6.2 Thermal Energy Carolina OpenSciEd Non-Consumable Student Edition, 69.95 279.80 523203A 8/pk 523204DV 6.2 Thermal Energy Carolina OpenSciEd 1-Class Refurbishment Voucher VRFB 139.95 10 Ś 1,399.50 6.2 Thermal Energy Carolina OpenSciEd 1-Class Teacher and Student Digital DGTL 30.00 \$ 300.00 523206 10 Access, 1 Year License \$ 523303A 6.3 Weather, Climate and Water Cycling Carolina OpenSciEd Non-SB 69.95 4 279.80 Consumable Student Edition, 8/pk 523304DV 6.3 Weather, Climate and Water Cycling Carolina OpenSciEd 1-Class VRFB 123.95 \$ 10 1,239.50 Refurbishment Voucher **DGTL** 30.00 523306 6.3 Weather, Climate and Water Cycling Carolina OpenSciEd 1-Class 10 Ś 300.00 Teacher and Student Digital Access, 1 Year License 523403A 6.4 Plate Tectonics & Rock Cycling Carolina OpenSciEd Non-Consumable SB \$ 69.95 \$ 279.80 Student Edition, 8/pk VRFB \$ 67.95 \$ 523404DV 6.4 Plate Tectonics & Rock Cycling Carolina OpenSciEd 1-Class 10 679.50 Refurbishment Voucher 523406 6.4 Plate Tectonics & Rock Cycling Carolina OpenSciEd 1-Class Teacher and DGTL \$ 30.00 10 \$ 300.00 Student Digital Access, 1 Year License 523503A Ś 69.95 Ś 279.80 6.5 Natural Hazards Carolina OpenSciEd Non-Consumable Student Edition, SB 8/pk 523504DV 6.5 Natural Hazards Carolina OpenSciEd 1-Class Refurbishment Voucher \$ 27.95 10 Ś 279.50 523506 6.5 Natural Hazards Carolina OpenSciEd 1-Class Teacher and Student Digital **DGTL** \$ 30.00 10 Ś 300.00

Access, 1 Year License

524603A	6.6 Cells & Systems Carolina OpenSciEd Non-Consumable Student Edition, 8/pk	SB	\$	69.95	4	\$ 279.80
524604DV	6.6 Cells & Systems Carolina OpenSciEd 1-Class Refurbishment Voucher	VRFB	\$	100.95	10	\$ 1,009.50
524606	6.6 Cells & Systems Carolina OpenSciEd 1-Class Teacher and Student Digital Access, 1 Year License	DGTL	\$	30.00	10	\$ 300.00
		Sixth Grad	le Sub	total	\$	7,506.50
	Seventh Grade					
523603A	7.1 Chemical Reactions & Matter Carolina OpenSciEd Non-Consumable Student Edition, 8/pk	SB	\$	69.95	4	\$ 279.80
523604DV	7.1 Chemical Reactions & Matter Carolina OpenSciEd 1-Class Refurbishment Voucher	VRFB	\$	291.95	10	\$ 2,919.50
523606	7.1 Chemical Reactions & Matter Carolina OpenSciEd 1-Class Teacher and Student Digital Access, 1 Year License	DGTL	\$	30.00	10	\$ 300.00
523703A	7.2 Chemical Reactions & Energy Carolina OpenSciEd Non-Consumable Student Edition, 8/pk	\$B	\$	69.95	4	\$ 279.80
523704DV	7.2 Chemical Reactions & Energy Carolina OpenSciEd 1-Class Refurbishment Voucher	VRFB	\$	212.95	10	\$ 2,129.50
523706	7.2 Chemical Reactions & Energy Carolina OpenSciEd 1-Class Teacher and Student Digital Access, 1 Year License	DGTL	\$	30.00	10	\$ 300.00
523803A	7.3 Metabolic Reactions Carolina OpenSciEd Non-Consumable Student Edition, 8/pk	SB	\$	69.95	4	\$ 279.80
523804DV	7.3 Metabolic Reactions Carolina OpenSciEd 1-Class Refurbishment Voucher	VRFB	\$	195.95	10	\$ 1,959.50
523806	7.3 Metabolic Reactions Carolina OpenSciEd 1-Class Teacher and Student Digital Access, 1 Year License	DGTL	\$	30.00	10	\$ 300.00
523903A	7.4 Matter Cycling & Photosynthesis Carolina OpenSciEd Non-Consumable Student Edition, 8/pk	SB	\$	69.95	4	\$ 279.80
523904DV	7.4 Matter Cycling & Photosynthesis Carolina OpenSciEd 1-Class	VRFB	\$	235.95	10	\$ 2,359.50
523906	Refurbishment Voucher 7.4 Matter Cycling & Photosynthesis Carolina OpenSciEd 1-Class Teacher	DGTL	\$	30.00	10	\$ 300.00
524003A	and Student Digital Access, 1 Year License 7.5 Ecosystem Dynamics & Biodiversity Carolina OpenSciEd Non-	SB	\$	69.95	4	\$ 279.80
524004DV	Consumable Student Edition, 8/pk 7.5 Ecosystem Dynamics & Biodiversity Carolina OpenSciEd 1-Class	VRFB	\$	78.95	10	\$ 789.50
524006	Refurbishment Voucher 7.5 Ecosystem Dynamics & Biodiversity Carolina OpenSciEd 1-Class Teacher	DGTL	\$	30.00	10	\$ 300.00
524703A	and Student Digital Access, 1 Year License 7.6 Natural Resources & Human Impact Carolina OpenSciEd Non-	SB	\$	69.95	4	\$ 279.80
524704DV	Consumable Student Edition, 8/pk 7.6 Natural Resources & Human Impact Carolina OpenSciEd 1-Class	VRFB	\$	123.95	10	\$ 1,239.50
524706	Refurbishment Voucher 7.6 Natural Resources & Human Impact Carolina OpenSciEd 1-Class Teacher	DGTL	\$	30.00	10	\$ 300.00
	and Student Digital Access, 1 Year License	Seventh G	rade S	Subtotal	\$	14,875.80
	Eighth Grade					
524103A	8.1 Contact Forces Carolina OpenSciEd Non-Consumable Student Edition, 8/pk	SB	\$	69.95	4	\$ 279.80
524104DV	8.1 Contact Forces Carolina OpenSciEd 1-Class Refurbishment Voucher	VRFB	\$	190.95	10	\$ 1,909.50
524106	8.1 Contact Forces Carolina OpenSciEd 1-Class Teacher and Student Digital Access, 1 Year License	DGTL	\$	30.00	10	\$ 300.00
524203A	8.2 Sound Waves Carolina OpenSciEd Non-Consumable Student Edition, 8/pl	SB	\$	69.95	4	\$ 279.80
524204DV	8.2 Sound Waves Carolina OpenSciEd 1-Class Refurbishment Voucher	VRFB	\$	44.95	10	\$ 449.50
524206	8.2 Sound Waves Carolina OpenSciEd 1-Class Teacher and Student Digital Access, 1 Year License	DGTL	\$	30.00	10	\$ 300.00
524303A	8.3 Forces at a Distance Carolina OpenSciEd Non-Consumable Student Edition, 8/pk	SB	\$	69.95	4	\$ 279.80
524304DV	8.3 Forces at a Distance Carolina OpenSciEd 1-Class Refurbishment Voucher	VRFB	\$	206.95	10	\$ 2,069.50

524306	8.3 Forces at a Distance Carolina OpenSciEd 1-Class Teacher and Student Digital Access, 1 Year License	DGTL	\$	30.00	10	\$ 300.00
524403A	8.4 Earth in Space Carolina OpenSciEd Non-Consumable Student Edition, 8/pk	SB	\$	69.95	4	\$ 279.80
524404DV	8.4 Earth in Space Carolina OpenSciEd 1-Class Refurbishment Voucher	VRFB	\$	156.95	10	\$ 1,569.50
524406	8.4 Earth in Space Carolina OpenSciEd 1-Class Teacher and Student Digital Access, 1 Year License	DGTL	\$	30.00	10	\$ 300.00
524503A	8.5 Genetics Carolina OpenSciEd Non-Consumable Student Edition, 8/pk	SB	\$	69.95	4	\$ 279.80
524504DV	8.5 Genetics Carolina OpenSciEd 1-Class Refurbishment Voucher	VRFB	\$	111.95	10	\$ 1,119.50
524506	8.5 Genetics Carolina OpenSciEd 1-Class Teacher and Student Digital Access, 1 Year License	DGTL	\$	30.00	10	\$ 300.00
524803A	8.6 Natural Selection & Common Ancestry Carolina OpenSciEd Non- Consumable Student Edition, 8/pk	SB	\$	69.95	4	\$ 279.80
524804DV	8.6 Natural Selection & Common Ancestry Carolina OpenSciEd 1-Class Refurbishment Voucher	VRFB	\$	335.95	10	\$ 3,359.50
524806	8.6 Natural Selection & Common Ancestry Carolina OpenSciEd 1-Class Teacher and Student Digital Access, 1 Year License	DGTL	\$	30.00	10	\$ 300.00
		Eighth Gra	de Su	btotal	\$	13,955.80

	Description	Unit Value	Qty	Extended Value
ProDev1	Professional Development (1 day/1 trainer)	\$ 2,500.00	1	\$ 2,500.00

#### Notes:

- 2. Professional development is on-site and customized to meet the needs of your educators.
- 3. Digital resource purchases and prepaid coupons such as vouchers and living material cards are non-refundable and are not redeemable for cash or credit. Vouchers do not expire and are redeemable only for the specific merchandise identified on the prepaid coupon or voucher.

Curriculum Sales Rep: Dan Ruttle, RCSM Mid-Atlantic Carolina Biological Supply Co 2700 York Rd, Burlington, NC 27215 Phone: 267-229-2748 Email: dan.ruttle@carolina.com Call: 800.334.5551 Date: 1/10/2024 Fax: 800.222.7112 23J Carolina™ Curriculum Quote Proposal Prepared for: **Proposal Valid Through:** 8/1/2024 Wendy Gray, Science 6-12 Curriculum Coordinator Requested Delivery Date: Warren County School District Phone: (814)723 - 6900 Ext. 1077 Address Email: GrayW@wcsdpa.org City, State, Zip Sheffield Area Middle-High School Ship to: 6760 Route 6 Sheffield, PA 16347 **Quote Summary Refurbishment Vouchers** \$ 19,089.80 Student Editions \$ 4,756.60 \$ Digital Resources 2,880.00 \$ Subtotal: 26,726.40 FREE Professional Development Days Value: 2,500.00 Shipping & Handling Savings: 95.13 Note: To ensure savings, please send order to sales rep listed above for processing. **Total Savings:** \$ 2,595.13 380.53 Shipping & Handling @ 8%: \$ State tax, if applicable, has not been \$ **Quote Proposal Total:** 27,106.93 factored into this proposal. Item# Description Type **Unit Price Extended Price** Qtv Carolina Certified Version OpenSciEd Sixth Grade 523203A 6.2 Thermal Energy Carolina OpenSciEd Non-Consumable Student Edition, 69.95 \$ 279.80 8/pk 523204DV 6.2 Thermal Energy Carolina OpenSciEd 1-Class Refurbishment Voucher **VRFB** 139.95 1,119.60 \$ 523206 6.2 Thermal Energy Carolina OpenSciEd 1-Class Teacher and Student Digital **DGTL** 30.00 180.00 Access, 1 Year License SB \$ \$ 523303A 6.3 Weather, Climate and Water Cycling Carolina OpenSciEd Non-69.95 279.80 Consumable Student Edition, 8/pk \$ 523304DV **VRFB** 123.95 991.60 6.3 Weather, Climate and Water Cycling Carolina OpenSciEd 1-Class Refurbishment Voucher **DGTL** Ś 30.00 Ś 180.00 523306 6.3 Weather, Climate and Water Cycling Carolina OpenSciEd 1-Class 6 Teacher and Student Digital Access, 1 Year License Ś 523403A 6.4 Plate Tectonics & Rock Cycling Carolina OpenSciEd Non-Consumable SB \$ 69.95 279.80 Student Edition, 8/pk 523404DV 6.4 Plate Tectonics & Rock Cycling Carolina OpenSciEd 1-Class **VRFB** 67.95 Ś 543.60 Refurbishment Voucher **DGTL** \$ Ś 180.00 523406 6.4 Plate Tectonics & Rock Cycling Carolina OpenSciEd 1-Class Teacher and 30.00 6 Student Digital Access, 1 Year License Ś 279.80 523503A 6.5 Natural Hazards Carolina OpenSciEd Non-Consumable Student Edition, SB 69.95 8/pk 523504DV 6.5 Natural Hazards Carolina OpenSciEd 1-Class Refurbishment Voucher **VRFB** \$ 27.95 R Ś 223.60

6.5 Natural Hazards Carolina OpenSciEd 1-Class Teacher and Student Digital

523506

Access, 1 Year License

\$

30.00

\$

6

180.00

524603A	6.6 Cells & Systems Carolina OpenSciEd Non-Consumable Student Edition, 8/pk	SB	\$	69.95	4	\$	279.80
524604DV	6.6 Cells & Systems Carolina OpenSciEd 1-Class Refurbishment Voucher	VRFB	\$	100.95	8	\$	807.60
524606	6.6 Cells & Systems Carolina OpenSciEd 1-Class Teacher and Student Digital Access, 1 Year License	DGTL	\$	30.00	6	\$	180.00
		Sixth Grad	e Sub	total	\$		5,985.00
	Seventh Grade						
523603A	7.1 Chemical Reactions & Matter Carolina OpenSciEd Non-Consumable Student Edition, 8/pk	SB	\$	69.95	4	\$	279.80
523604DV	7.1 Chemical Reactions & Matter Carolina OpenSciEd 1-Class Refurbishment Voucher	VRFB	\$	291.95	8	\$	2,335.60
523606	7.1 Chemical Reactions & Matter Carolina OpenSciEd 1-Class Teacher and Student Digital Access, 1 Year License	DGTL	\$	30.00	6	\$	180.00
523703A	7.2 Chemical Reactions & Energy Carolina OpenSciEd Non-Consumable Student Edition, 8/pk	SB	\$	69.95	4	\$	279.80
523704DV	7.2 Chemical Reactions & Energy Carolina OpenSciEd 1-Class Refurbishment Voucher	VRFB	\$	212.95	8	\$	1,703.60
523706	7.2 Chemical Reactions & Energy Carolina OpenSciEd 1-Class Teacher and	DGTL	\$	30.00	6	\$	180.00
523803A	Student Digital Access, 1 Year License 7.3 Metabolic Reactions Carolina OpenSciEd Non-Consumable Student	SB	\$	69.95	4	\$	279.80
523804DV	Edition, 8/pk 7.3 Metabolic Reactions Carolina OpenSciEd 1-Class Refurbishment Voucher	VRFB	\$	195.95	8	\$	1,567.60
523804DV 523806	7.3 Metabolic Reactions Carolina OpenSciEd 1-Class Reacher and Student	DGTL	\$	30.00	6	\$	180.00
323800	Digital Access, 1 Year License	Dair	Ą	30.00	Ü	Ţ	180.00
523903A	7.4 Matter Cycling & Photosynthesis Carolina OpenSciEd Non-Consumable Student Edition, 8/pk	SB	\$	69.95	4	\$	279.80
523904DV	7.4 Matter Cycling & Photosynthesis Carolina OpenSciEd 1-Class Refurbishment Voucher	VRFB	\$	235.95	8	\$	1,887.60
523906	7.4 Matter Cycling & Photosynthesis Carolina OpenSciEd 1-Class Teacher and Student Digital Access, 1 Year License	DGTL	\$	30.00	6	\$	180.00
524003A	7.5 Ecosystem Dynamics & Biodiversity Carolina OpenSciEd Non- Consumable Student Edition, 8/pk	SB	\$	69.95	4	\$	279.80
524004DV	7.5 Ecosystem Dynamics & Biodiversity Carolina OpenSciEd 1-Class	VRFB	\$	78.95	8	\$	631.60
524006	Refurbishment Voucher 7.5 Ecosystem Dynamics & Biodiversity Carolina OpenSciEd 1-Class Teacher	DGTL	\$	30.00	6	\$	180.00
524703A	and Student Digital Access, 1 Year License 7.6 Natural Resources & Human Impact Carolina OpenSciEd Non-	SB	\$	69.95	4	\$	279.80
524704DV	Consumable Student Edition, 8/pk 7.6 Natural Resources & Human Impact Carolina OpenSciEd 1-Class	VRFB	\$	123.95	8	\$	991.60
524706	Refurbishment Voucher 7.6 Natural Resources & Human Impact Carolina OpenSciEd 1-Class Teacher	DGTL	\$	30.00	6	\$	180.00
	and Student Digital Access, 1 Year License	Seventh G	rade S	Subtotal	¢		11,876.40
	Eighth Grade				~		11,070
524103A	8.1 Contact Forces Carolina OpenSciEd Non-Consumable Student Edition,	SB	\$	69.95	4	\$	279.80
524104DV	8/pk 8.1 Contact Forces Carolina OpenSciEd 1-Class Refurbishment Voucher	VRFB	\$	190.95	6	\$	1,145.70
524106	8.1 Contact Forces Carolina OpenSciEd 1-Class Teacher and Student Digital	DGTL	\$	30.00	5	\$	150.00
524203A	Access, 1 Year License 8.2 Sound Waves Carolina OpenSciEd Non-Consumable Student Edition, 8/pk	SB	\$	69.95	4	\$	279.80
524204DV	8.2 Sound Waves Carolina OpenSciEd 1-Class Refurbishment Voucher	VRFB	\$	44.95	6	\$	269.70
524206	8.2 Sound Waves Carolina OpenSciEd 1-Class Teacher and Student Digital Access, 1 Year License	DGTL	\$	30.00	5	\$	150.00
524303A	8.3 Forces at a Distance Carolina OpenSciEd Non-Consumable Student Edition, 8/pk	SB	\$	69.95	4	\$	279.80
524304DV	8.3 Forces at a Distance Carolina OpenSciEd 1-Class Refurbishment Voucher	VRFB	\$	206.95	6	\$	1,241.70

524306	8.3 Forces at a Distance Carolina OpenSciEd 1-Class Teacher and Student	DGTL	\$	30.00	5	\$ 150.00
524403A	Digital Access, 1 Year License 8.4 Earth in Space Carolina OpenSciEd Non-Consumable Student Edition, 8/pk	SB	\$	69.95	4	\$ 279.80
524404DV	8.4 Earth in Space Carolina OpenSciEd 1-Class Refurbishment Voucher	VRFB	\$	156.95	6	\$ 941.70
524406	8.4 Earth in Space Carolina OpenSciEd 1-Class Teacher and Student Digital Access, 1 Year License	DGTL	\$	30.00	5	\$ 150.00
524503A	8.5 Genetics Carolina OpenSciEd Non-Consumable Student Edition, 8/pk	SB	\$	69.95	4	\$ 279.80
524504DV	8.5 Genetics Carolina OpenSciEd 1-Class Refurbishment Voucher	VRFB	\$	111.95	6	\$ 671.70
524506	8.5 Genetics Carolina OpenSciEd 1-Class Teacher and Student Digital Access, 1 Year License	DGTL	\$	30.00	5	\$ 150.00
524803A	8.6 Natural Selection & Common Ancestry Carolina OpenSciEd Non- Consumable Student Edition, 8/pk	SB	\$	69.95	4	\$ 279.80
524804DV	8.6 Natural Selection & Common Ancestry Carolina OpenSciEd 1-Class Refurbishment Voucher	VRFB	\$	335.95	6	\$ 2,015.70
524806	8.6 Natural Selection & Common Ancestry Carolina OpenSciEd 1-Class Teacher and Student Digital Access, 1 Year License	DGTL	\$	30.00	5	\$ 150.00
	· · · · · · · · · · · · · · · · · · ·	Eighth Grad	de Su	btotal	\$	8,865.00

Description	Unit Value	Qty	<b>Extended Value</b>
Professional Development (1 day/1 trainer)	\$ 2,500.00	1	\$ 2,500.00

#### Notes:

ProDev1

- 2. Professional development is on-site and customized to meet the needs of your educators.
- 3. Digital resource purchases and prepaid coupons such as vouchers and living material cards are non-refundable and are not redeemable for cash or credit. Vouchers do not expire and are redeemable only for the specific merchandise identified on the prepaid coupon or voucher.

Curriculum Sales Rep: Dan Ruttle, RCSM Mid-Atlantic Carolina Biological Supply Co Phone: 267-229-2748 2700 York Rd, Burlington, NC 27215 Email: dan.ruttle@carolina.com Call: 800.334.5551 Date: 1/10/2024 Fax: 800.222.7112 23J Carolina™ Curriculum Ouote Proposal Prepared for: **Proposal Valid Through:** 8/1/2024 Wendy Gray, Science 6-12 Curriculum Coordinator Requested Delivery Date: TBD Phone: (814)723 - 6900 Ext. 1077 Warren County School District Address Email: GrayW@wcsdpa.org City, State, Zip Ship to: Youngsville Middle-High School 227 College Street Youngsville, PA 16371 **Quote Summary Refurbishment Vouchers** \$ 26,481.50 Student Editions \$ 4,756.60 \$ **Digital Resources** 4,080.00 \$ **Subtotal:** 35,318.10 \$ FREE Professional Development Days Value: 5,000.00 \$ Shipping & Handling Savings: 95.13 Note: To ensure savings, please send order to sales rep listed above for processing. **Total Savings:** \$ 5,095.13 Shipping & Handling @ 8%: \$ 380.53 State tax, if applicable, has not been \$ 35,698.63 **Quote Proposal Total:** factored into this proposal Item# Description Type **Unit Price** Otv **Extended Price** Carolina Certified Version OpenSciEd Sixth Grade 69.95 279.80 523203A 6.2 Thermal Energy Carolina OpenSciEd Non-Consumable Student Edition, 8/pk 523204DV 6.2 Thermal Energy Carolina OpenSciEd 1-Class Refurbishment Voucher VRFB 139.95 10 Ś 1,399.50 30.00 8 \$ 523206 6.2 Thermal Energy Carolina OpenSciEd 1-Class Teacher and Student Digital DGTL 240.00 Access, 1 Year License \$ 6.3 Weather, Climate and Water Cycling Carolina OpenSciEd Non-SB Ś 69.95 4 279.80 523303A Consumable Student Edition, 8/pk **VRFB** 123.95 10 \$ 1,239.50 523304DV 6.3 Weather, Climate and Water Cycling Carolina OpenSciEd 1-Class Refurbishment Voucher 240.00 523306 6.3 Weather, Climate and Water Cycling Carolina OpenSciEd 1-Class **DGTL** 30.00 Ś Teacher and Student Digital Access, 1 Year License SB \$ 69.95 Ś 279.80 523403A 6.4 Plate Tectonics & Rock Cycling Carolina OpenSciEd Non-Consumable Student Edition, 8/pk **VRFB** \$ 67.95 \$ 679.50 523404DV 6.4 Plate Tectonics & Rock Cycling Carolina OpenSciEd 1-Class 10 Refurbishment Voucher 6.4 Plate Tectonics & Rock Cycling Carolina OpenSciEd 1-Class Teacher and DGTL \$ 30.00 8 \$ 240.00 523406 Student Digital Access, 1 Year License \$ 69.95 Ś 279.80 6.5 Natural Hazards Carolina OpenSciEd Non-Consumable Student Edition, SB 4 523503A 8/pk 6.5 Natural Hazards Carolina OpenSciEd 1-Class Refurbishment Voucher 279.50 523504DV Ś 27.95 10 Ś 6.5 Natural Hazards Carolina OpenSciEd 1-Class Teacher and Student Digital **DGTL** \$ 30.00 8 \$ 240.00 523506

Access, 1 Year License

524603A	6.6 Cells & Systems Carolina OpenSciEd Non-Consumable Student Edition, 8/pk	SB	\$	69.95	4	\$	279.80
524604DV	6.6 Cells & Systems Carolina OpenSciEd 1-Class Refurbishment Voucher	VRFB	\$	100.95	10	\$	1,009.50
524606	6.6 Cells & Systems Carolina OpenSciEd 1-Class Teacher and Student Digital Access, 1 Year License	DGTL	\$	30.00	8	\$	240.00
		Sixth Grad	le Sub	total	\$		7,206.50
	Seventh Grade						
523603A	7.1 Chemical Reactions & Matter Carolina OpenSciEd Non-Consumable Student Edition, 8/pk	SB	\$	69.95	4	\$	279.80
523604DV	7.1 Chemical Reactions & Matter Carolina OpenSciEd 1-Class Refurbishment Voucher	VRFB	\$	291.95	10	\$	2,919.50
523606	7.1 Chemical Reactions & Matter Carolina OpenSciEd 1-Class Teacher and Student Digital Access, 1 Year License	DGTL	\$	30.00	8	\$	240.00
523703A	7.2 Chemical Reactions & Energy Carolina OpenSciEd Non-Consumable Student Edition, 8/pk	SB	\$	69.95	4	\$	279.80
523704DV	7.2 Chemical Reactions & Energy Carolina OpenSciEd 1-Class Refurbishment Voucher	VRFB	\$	212.95	10	\$	2,129.50
523706	7.2 Chemical Reactions & Energy Carolina OpenSciEd 1-Class Teacher and Student Digital Access, 1 Year License	DGTL	\$	30.00	8	\$	240.00
523803A	7.3 Metabolic Reactions Carolina OpenSciEd Non-Consumable Student Edition, 8/pk	SB	\$	69.95	4	\$	279.80
523804DV	7.3 Metabolic Reactions Carolina OpenSciEd 1-Class Refurbishment Voucher	VRFB	\$	195.95	10	\$	1,959.50
523806	7.3 Metabolic Reactions Carolina OpenSciEd 1-Class Teacher and Student Digital Access, 1 Year License	DGTL	\$	30.00	8	\$	240.00
523903A	7.4 Matter Cycling & Photosynthesis Carolina OpenSciEd Non-Consumable	SB	\$	69.95	4	\$	279.80
523904DV	Student Edition, 8/pk 7.4 Matter Cycling & Photosynthesis Carolina OpenSciEd 1-Class	VRFB	\$	235.95	10	\$	2,359.50
523906	Refurbishment Voucher 7.4 Matter Cycling & Photosynthesis Carolina OpenSciEd 1-Class Teacher	DGTL	\$	30.00	8	\$	240.00
524003A	and Student Digital Access, 1 Year License 7.5 Ecosystem Dynamics & Biodiversity Carolina OpenSciEd Non-	SB	\$	69.95	4	\$	279.80
524004DV	Consumable Student Edition, 8/pk 7.5 Ecosystem Dynamics & Biodiversity Carolina OpenSciEd 1-Class	VRFB	\$	78.95	10	\$	789.50
524006	Refurbishment Voucher 7.5 Ecosystem Dynamics & Biodiversity Carolina OpenSciEd 1-Class Teacher	DGTL	\$	30.00	8	\$	240.00
524703A	and Student Digital Access, 1 Year License 7.6 Natural Resources & Human Impact Carolina OpenSciEd Non-	SB	\$	69.95	4	\$	279.80
524704DV	Consumable Student Edition, 8/pk 7.6 Natural Resources & Human Impact Carolina OpenSciEd 1-Class	VRFB	\$	123.95	10	\$	1,239.50
524706	Refurbishment Voucher 7.6 Natural Resources & Human Impact Carolina OpenSciEd 1-Class Teacher	DGTL	\$	30.00	8	\$	240.00
	and Student Digital Access, 1 Year License	Seventh G	rade S	Subtotal	\$		14,515.80
	Eighth Grade						
524103A	8.1 Contact Forces Carolina OpenSciEd Non-Consumable Student Edition, 8/pk	SB	\$	69.95	4	\$	279.80
524104DV	8.1 Contact Forces Carolina OpenSciEd 1-Class Refurbishment Voucher	VRFB	\$	190.95	10	\$	1,909.50
524106	8.1 Contact Forces Carolina OpenSciEd 1-Class Teacher and Student Digital Access, 1 Year License	DGTL	\$	30.00	8	\$	240.00
524203A	8.2 Sound Waves Carolina OpenSciEd Non-Consumable Student Edition, 8/pl	SB VRFB	\$	69.95	4	\$ \$	279.80
524204DV	8.2 Sound Waves Carolina OpenSciEd 1-Class Refurbishment Voucher	VIVED	\$	44.95	10	Þ	449.50
524206	8.2 Sound Waves Carolina OpenSciEd 1-Class Teacher and Student Digital Access, 1 Year License	DGTL	\$	30.00	8	\$	240.00
524303A	8.3 Forces at a Distance Carolina OpenSciEd Non-Consumable Student Edition, 8/pk	SB	\$	69.95	4	\$	279.80
524304DV	8.3 Forces at a Distance Carolina OpenSciEd 1-Class Refurbishment Voucher	VRFB	\$	206.95	10	\$	2,069.50

524306	8.3 Forces at a Distance Carolina OpenSciEd 1-Class Teacher and Student	DGTL	\$	30.00	8	\$ 240.00
524403A	Digital Access, 1 Year License 8.4 Earth in Space Carolina OpenSciEd Non-Consumable Student Edition, 8/pk	SB	\$	69.95	4	\$ 279.80
524404DV	8.4 Earth in Space Carolina OpenSciEd 1-Class Refurbishment Voucher	VRFB	\$	156.95	10	\$ 1,569.50
524406	8.4 Earth in Space Carolina OpenSciEd 1-Class Teacher and Student Digital	DGTL	\$	30.00	8	\$ 240.00
524503A	Access, 1 Year License 8.5 Genetics Carolina OpenSciEd Non-Consumable Student Edition, 8/pk	SB	\$	69.95	4	\$ 279.80
524504DV	8.5 Genetics Carolina OpenSciEd 1-Class Refurbishment Voucher	VRFB	\$	111.95	10	\$ 1,119.50
524506	8.5 Genetics Carolina OpenSciEd 1-Class Teacher and Student Digital Access, 1 Year License	DGTL	\$	30.00	8	\$ 240.00
524803A	8.6 Natural Selection & Common Ancestry Carolina OpenSciEd Non- Consumable Student Edition, 8/pk	SB	\$	69.95	4	\$ 279.80
524804DV	8.6 Natural Selection & Common Ancestry Carolina OpenSciEd 1-Class	VRFB	\$	335.95	10	\$ 3,359.50
524806	Refurbishment Voucher  8.6 Natural Selection & Common Ancestry Carolina OpenSciEd 1-Class	DGTL	\$	30.00	8	\$ 240.00
	Teacher and Student Digital Access, 1 Year License	Eighth Gra	de Su	btotal	\$	13,595.80

	Description	Unit Value	Qty	Extended Value
ProDev1	Professional Development (1 day/1 trainer)	\$ 2,500.00	2	\$ 5,000.00

#### Notes:

- 2. Professional development is on-site and customized to meet the needs of your educators.
- 3. Digital resource purchases and prepaid coupons such as vouchers and living material cards are non-refundable and are not redeemable for cash or credit. Vouchers do not expire and are redeemable only for the specific merchandise identified on the prepaid coupon or voucher.



ome > Service & Support > Carolina's Terms and Conditions

# arolina's Terms and onditions

## Customer Service & Technical Support

Shipping Information

Contracts & Business Accounts

Procurement & Punchout Services

International Ordering

USDA Permits for Living Organisms

Carolina® Catalogs

Payment Options

Privacy & Security

<u>Carolina's Terms and</u> <u>Conditions</u>

Media Room

# **Carolina's Terms and Conditions**

#### **Conditions**

All orders and requests for goods and services from Carolina Biological (whether placed via this website or any other method) are subject to your compliance with Carolina's Terms of Use and to the following Conditions:

#### **Educational use**

Bacteria, fungi, viruses, and all products labeled and/or advertised "for educational use" may only be used for educational purposes. Commercial use, resale, and research use for other than educational purposes, are all prohibited. By requesting or placing an order for such products, you represent and warrant that you will use the products only for educational purposes. Unauthorized uses must be recalled and destroyed.

# **Export**

Our provision of goods and services through this website and through our catalogs and other means is subject to United States export control and economic sanctions requirements. By acquiring any goods and services from Carolina Biological, whether through this Carolina Biological website or otherwise, you represent and warrant that your purchase and/or use comports with those requirements.

# **Liability for Improper Use**

Educational products, when used, require supervision appropriate to the age of the users. You represent and warrant that you will select products that are appropriate for your users and will provid appropriate supervision for all products obtained from us. We remind you that biological materials, including cultures and specimens, are not intended for consumption. Some biological materials are labeled as pathogens, and others may become pathogenic depending on conditions such as the purchaser's storage and handling of the materials. Purchasers assume all liability and risk for proper and safe use of materials, and indemnify Carolina Biological against all claims arising from storage, use, and mis-use. We are happy to replace materials that for any reason are deemed unsafe or improper for your intended use, but assume no other liability.

#### **Terms of Use**

YOUR USE OF THIS WEBSITE IS SUBJECT TO THESE TERMS OF USE; SO PLEASE READ THESE TEI... OF USE CAREFULLY BEFORE USING THIS WEBSITE. BY ACCESSING OR USING ANY OTHER PART OF THIS WEBSITE, OR ANY CAROLINA BIOLOGICAL SERVICE OR SOFTWARE THAT ACCESSES OF THIS OR ANY CAROLINA BIOLOGICAL WEBSITE OR ONLINE SERVICE (COLLECTIVELY "ONLINE

AGREE TO BE BOUND BY IT. IF YOU DO NOT AGREE TO BE BOUND BY THIS AGREEMENT, DO NOT ACCESS OR USE ANY PART OF THIS WEBSITE OR USE ANY SERVICE OR SOFTWARE TO ACCESS OR USE THIS WEBSITE.

# **Scope of Agreement**

These Terms of Use ("Terms") apply to each Carolina Biological Website, which includes www.carolina.com, www.carolinacurriculum.com, www.carolinascienceonline.com, www.iLearn.carolina.com, http://iteachinquiryblog.com, http://landing.carolina.com/distance-learnin http://www.buildingblocksofscience.com, http://www.smithsonianstc.com, and any other Internet sit on which these Terms are posted. These Terms constitute the entire agreement between you and Carolina Biological and any and all entities that control, or are controlled by, or are affiliated or under common control with Carolina Biological (collectively referred to throughout these Terms as "we," "us or "our") and constitute the entire agreement relating to our Online Services, superseding all prior or contemporaneous statements, whether electronic, oral or written.

Note that additional special terms may apply to some of the services offered on Carolina Biological websites. Any special terms will be posted in connection with the applicable service and are in addition to these Terms. In the event of a conflict between these Terms and any special terms, the special terms will prevail over these Terms, with respect to the associated services.

Through your use of our website or receipt of information and materials available at or through a Carolina Biological website you acknowledge that these Terms are supported by reasonable and valuable consideration, the receipt and adequacy of which are hereby acknowledged.

# **Password and Security**

Portions of Carolina Biological's websites are secure and may require you to register in order to participate in those areas. User accounts issued for Carolina Biological's websites are for individual use only and you are solely responsible for maintaining the confidentiality of your user name and password. You agree to provide accurate and complete information about yourself when registering otherwise providing information regarding your account and to update your account data to keep it accurate and complete and to log out when you conclude each session. You agree that we may store and use the information you provide for maintaining your account. You also agree not to misrepreser your identity or affiliation with any person or entity, including (but not limited to) using another person username, password or other account information. Violations of our security systems may result in civil or criminal liability. You agree to notify us immediately of any unauthorized use of your password or account or any other breach of security. We will take every effort to ensure your online security, bu cannot and will not be liable for any loss or damage arising from your failure to comply with these provisions.

By accessing or using this website, or using any services or software that access or use this website you consent to the terms of our Privacy Policy and Children's Information Privacy Policy, which can accessed using the links at the bottom of any page of any Carolina Biological website. The Privacy Policy and Children's Information Privacy Policy may be changed from time to time and are incorporated into these Terms by reference.

Our websites are intended for educational and entertainment purposes, primarily for the use and enjoyment of teachers, educators, students, parents and families. You agree to use this website only for such purposes. You may not use this website for any other purpose, including any business or commercial purpose, without Carolina Biological's express prior written consent. Any unauthorized commercial use of this or any Carolina Biological website, server or related services, or the resale of related services, is expressly prohibited.

As a condition of your use of our Online Services, you expressly agree that you will not use our websites, software, or other products or services for any purpose that is unlawful or prohibited by these Terms. You agree to abide by all applicable local, state, federal and international laws and regulations and are solely responsible for all acts or omissions that occur when you are logged in, including the content of any information submitted or posted on this website. Students, parents and teachers using any Carolina Biological website are responsible for good behavior just as in any scholactivity and are governed by applicable electronic communications policies.

#### **Use of Content**

You acknowledge that our sites contain content that is protected by copyrights, trademarks, trade secrets, or other proprietary rights, and that these rights are valid and protected in all forms, media and technologies existing now or hereinafter developed. All information, files, materials, functions an other content accessible from any Carolina Biological website, or otherwise controlled by Carolina Biological ("Content") is the proprietary material of Carolina Biological or the party that provided or licensed the Content to Carolina Biological. All Content is or may be copyrighted as a collective work under the U.S. copyright laws, and Carolina Biological owns a copyright in the selection, coordination arrangement, and enhancement of Content on our sites. The display or delivery of Content does not transfer to you any proprietary rights in the Content. Any downloading or printing capabilities are solely an accommodation to you and shall not constitute a grant, waiver, or other limitation of any rights of the copyright owners in any Content. You may not copy, distribute, display, send, perform, reproduce, or create derivative works from, any information, content, software, products or services obtained from, or otherwise connected to, any Carolina Biological website other than as explicitly directed by us. You may not modify, remove, delete, augment, add to, publish, participate in the transfer or sale of, or in any way exploit any Content, in whole or in part.

Any Content on any Carolina Biological website that is configured for downloading, such as worksho downloads, care sheets and dissection activities and resources, may be downloaded for your personal, noncommercial use only, provided that you do not: (a) remove, alter or modify any copyrigh trademark, trade name, service mark or other proprietary notices; (b) modify the Content; or (c) use tl Content in a way that suggests an association with any of our products, services or brands.

Carolina Biological is a distributor and not a publisher of certain Content supplied by third parties and users (referred to as "Third Party Content" and/or "User Generated Content"). Carolina Biological has no editorial control over such Content. Carolina Biological is not obligated to review Content, include Third Party Content, User Generated Content or any Content. Any opinions, advice, statements, services, offers, or other information that constitutes part of Content, including User Generated Content, Third Party Content or any Content, expressed or made available by third parties, including any other user, are those of the respective authors or distributors and not of Carolina Biological or an

expressly stated. In many instances, the Content, including User Generated Content, User Generated Content or any Content, available through any Carolina Biological Site represents the opinions and judgments of the third party that provides such Content. Under no circumstance shall either Carolina Biological or any Carolina Biological Content provider be liable for any loss, damage or harm caused by your reliance on information obtained through any Carolina Biological Site. It is your responsibility to evaluate the accuracy, completeness or usefulness of the information, opinion, advice, or Content, including User Generated Content, Third Party Content or any Content, available through any Carolina Biological Site.

Any software downloads that are offered on a Carolina Biological website, including any files, text, sound, images and other material incorporated in or generated by the software, are licensed to you for your personal use only. The owner of such licensed software, whether a third party or Carolina Biological, retains all rights, title and interest in the software and you may not copy, distribute or otherwise exploit the software or decompile, reverse engineer or otherwise attempt to discover any of the source code or assist someone else in such prohibited behavior. Certain Content may include security technology that limits your use of such Content and you acknowledge that, whether or not Content is limited by security technology, you must use Content in compliance with the applicable usage rules established by Carolina Biological and its licensors, and that any other use of the Content may constitute a copyright infringement.

You are responsible to protect any Content that you download and Carolina Biological will not be responsible for Content that is lost, destroyed or damaged for any reason. Carolina Biological reserve the right to change any Content, as well as eligibility for access to any particular Content, without notice. You acknowledge that, if we make such a change, you may not be able to use Content to the same extent as prior to such change and that Carolina Biological shall have no liability to you in such case. Discontinued or currently unavailable merchandise also may be removed from our website. If you are unable to locate a product, a service or the information that you recall from a previous visit, please send us an email and we will make every effort to assist you to the extent appropriate.

Carolina cannot and does not guarantee the contents or security of electronic files located on our sites. Accordingly, we cannot assure that users will not be exposed to inappropriate material.

All Content is subject to the restrictions described above, regardless of whether it is offered free of charge or for a fee.

#### **Your Submissions to Our Websites**

The provisions of this section apply if you submit, post, upload, embed, display, communicate or otherwise distribute any message, idea, concept, drawing, photograph, graphic, video, audio or other material or information, regardless of medium, format or form, through a Carolina Biological website ("Submissions"). Do not make any Submission until you have thoroughly reviewed and acknowledged all provisions of these Terms of Use applicable to Submissions. Each time you provide a Submission you will be confirming your acceptance of and agreement to be bound by these provisions. If you d not agree with these provisions, you must not make any Submission. Before making each Submission you must determine that you meet the age and other eligibility requirements set forth in our Terms of Use, as well as any instructions and restrictions set forth at the web page through which the Submission is posted. Our policies regarding Submissions apply regardless of whether a Submission

- Violates any copyright, patent, trademark, trade secret, intellectual property or other proprietary c contractual right; or
- Advertises any commercial or business endeavor (for example, offering products or services) or
  otherwise engages in any commercial activity (for example, conducting raffles or contests,
  displaying sponsorship banners, and/or soliciting goods or services) except as may be
  specifically authorized by us;
- Harms or can reasonably be expected to harm any person or entity, including but not limited to
  material that is a violation of privacy, defamatory, abusive, harassing, threatening, or exploits or
  harms children by exposing them to inappropriate content; or
- Is illegal or encourages, advocates or discusses illegal activity; or
- Openly seeks, or passively collects, personal or personally identifiable information about or from others; or
- Includes programs that contain viruses, worms and/or Trojan horses or any other computer code files or programs designed to interrupt, destroy or limit the use or enjoyment of any our websites or
- Otherwise violates any provision of these Terms.

Carolina Biological does not endorse any Submission and expressly disclaims any and all liability in connection with any Submission. Carolina Biological may refuse or remove any Submission that, in it sole judgment, violates these Terms. You are solely responsible for any Submission you submit to ar of our websites.

Some of our websites may contain communications services provided through forums, bulletin board services, chat areas, message boards, news groups, communities, personal web pages, calendars, and/or other message or communication features designed to allow you to communicate with other. You agree to use such communication services only to make and receive Submissions that are related to the particular communication service and in accord with these Terms.

You should be aware that in some instances, your Submissions are public, not private communications. When you are using the areas of our websites that publicly display Submissions, you should assume that any Submissions you make to these areas also are subject to being made public You should never post any message that you would not mind seeing on a school or community bulletin board or in the local newspaper. The privacy of others also should be respected at all times. you need permission to use any photos, writings or other material or any identifying information contained in a Submission, you are responsible for obtaining documentation of such permission before posting the Submission. We may prohibit or remove certain Submissions that have been posted in public areas of our websites, in accord with our policies, but we are under no general duty to monitor the public posting of Submissions in such areas. When you voluntarily disclose any personal information (which is further defined in our Privacy Policy) through any Submission in a public area, that information can be viewed, collected and used by others and may result in unsolicited message: from other people, for which we shall have no responsibility.

By providing a Submission to any of our web sites, you hereby grant Carolina Biological the royalty-free, perpetual, irrevocable, worldwide, non-exclusive right and license to reproduce, use, copy, sell distribute, create derivative works from, perform, and display all or part of the Submission in any form media, or technology now known or later developed and to use any Submission or portion thereof in

relinquish any and all moral rights now or hereafter recognized in connection with any and all Submissions. We will not, however, claim any title or ownership rights in your Submission.

In certain instances you may be asked to provide additional information about yourself and the Submission; all such additional information provided also shall be considered a Submission. By providing such information you provide permission for us to use and refer to your name, image and other distinctive identification. Except in the case of certain Submissions by students or teachers participating in our online instruction or assistance activities, Carolina Biological will not be required treat any Submission as confidential. However, all such information will be used in a manner consistent with our privacy policies.

We are not responsible for maintaining any Submission on our site or providing you with a copy of ar Submission that you may have made. Though we advise that you keep a record of any Submission that you provide to any of our sites, your proof of what you submitted does not constitute proof of what we received.

Certain areas of our websites might be designed for user collaboration. Submissions provided in suc areas therefore might be made available for use by other users. You are responsible for paying attention to the activities offered in each area of our website to which you post a Submission and by providing a Submission in such collaborative areas you acknowledge and agree that your Submission may be used accordingly.

By providing a Submission to a Carolina Biological website, you also represent and warrant that the Submission is your original work, and that it does not infringe upon or violate any law, agreement or copyright, patent, trademark, unfair competition, contract, defamation, privacy or publicity rights of a third party or other rights of any kind.

Access to and use of secure areas of Carolina's sites is considered a privilege provided at the discretion of Carolina Biological and its associates and affiliated school systems. Carolina Biologica reserves the right to monitor use of its websites to determine compliance with these Terms, to investigate any reported or apparent violation, and to take any action that we in our sole discretion deem appropriate. We also reserve the right to immediately withdraw access and use of our sites when there is reason to believe that violations of law or our policies have occurred. We also reserve the right at all times to disclose any information as necessary to satisfy any applicable law, regulatio legal process or governmental request, and to edit, refuse to post or to remove any information or materials, in whole or in part, in our sole discretion. Submissions provided to any of our websites ma be subject to posted limits on use, reproduction and/or dissemination and you are responsible for abiding by such limitations with respect to any Submissions that you provide, as well as any material that you may download.

The provisions of our Terms of Use providing for indemnification also are applicable to Submissions

#### **Termination of Service**

If you are dissatisfied with any portion of our Online Services or with these Terms, you may contact our Customer Service department or discontinue using our Online Services. Under certain circumstances, we may refund all or some of your pre-payment for services. This agreement is affective until terminated by either narty. You may ask us to close your account at any time by sendir

## **Disclaimer and Limitation of Liability**

YOU AGREE THAT USE OF ANY PART OF ANY OF OUR WEBSITES OR ONLINE SERVICES IS ENTIRELY AT YOUR OWN RISK. THE CONTENT ON OUR WEBSITES IS PROVIDED IN GOOD FAITH, "AS IS," AND WITHOUT WARRANTIES OF ANY KIND, EITHER EXPRESS OR IMPLIED. TO THE FULLEST EXTENT PERMISSIBLE BY LAW, CAROLINA BIOLOGICAL DISCLAIMS ALL WARRANTIES, EXPRESSED OR IMPLIED, INCLUDING, BUT NOT LIMITED TO, IMPLIED WARRANTIES OF MERCHANTABILITY AND FITNESS FOR A PARTICULAR PURPOSE. CAROLINA BIOLOGICAL DOES NOT WARRANT THAT ANY O OUR WEBSITES OR MATERIALS ON THE WEBSITES WILL BE UNINTERRUPTED OR ERROR-FREE, TH/ DEFECTS WILL BE CORRECTED, OR THAT ANY OF OUR WEBSITES OR THE SERVERS THAT MAKE THEM AVAILABLE ARE FREE OF VIRUSES OR OTHER HARMFUL COMPONENTS. CAROLINA BIOLOGICAL DOES NOT WARRANT OR MAKE ANY REPRESENTATIONS REGARDING THE USE OR TH RESULTS OF THE USE OF THE CONTENT ON ANY OF OUR WEBSITES. APPLICABLE LAW MAY NOT ALLOW THE EXCLUSION OF IMPLIED WARRANTIES, SO THE ABOVE EXCLUSION MAY NOT APPLY TO YOU. YOU ACKNOWLEDGE THAT WE MAY INCLUDE LINKS TO OTHER WEBSITES AND THAT CAROLINA BIOLOGICAL HAS NO CONTROL OVER, AND MAKES NO REPRESENTATIONS OF ANY KIN REGARDING SUCH WEBSITES, AND YOU HEREBY IRREVOCABLY WAIVE ANY CLAIM AGAINST CAROLINA BIOLOGICAL WITH RESPECT TO ANY LINKED WEBSITES.

In no event will Carolina Biological, or any person or entity involved in the provision of these Online Services, be liable for any damages, including, without limitation, direct, indirect, punitive, actual, incidental, consequential, special, exemplary, or other damages, arising as a result of your use or access to any of the Content on our websites, or inability to use or access our websites, or arising ou of any breach of warranty even if Carolina Biological has been advised of the possibility of such damages. You specifically acknowledge that Carolina Biological is not liable for the defamatory, offensive, or illegal conduct of third parties, including, but not limited to others that have registered with any of our websites.

#### Indemnity

You agree to indemnify and hold Carolina Biological, its subsidiaries, affiliates, licensors, content providers, service providers, employees, agents, officers, directors, representatives and contractors ("Indemnified Parties") harmless from any breach of these Terms by you, including any Submissions or use of Content other than as expressly authorized in these Terms. You agree that the Indemnified Parties will have no liability in connection with any such breach, alleged breach or unauthorized use, and you agree to indemnify any and all resulting loss, damages, judgments, awards, costs, expenses, and attorneys' fees of the Indemnified Parties arising out of your breach, alleged breach or unauthorized use. You also agree to defend, indemnify and hold the Indemnified Parties harmless from and against any claims brought by third parties arising out of your use of any of our websites.

#### **Trademarks and Copyrights**

Any trademarks, service marks, logos, and copyrighted works appearing in this website are the intellectual property of Carolina Biological or their owners, who retain all rights in that respect. Any unauthorized use of such intellectual property may violate copyright laws, trademark laws, the laws to privacy and publicity, as well as other communications regulations and statutes. We also respect the

States Code, Section 512(c)(2) ("the Copyright Act"), notifications of claimed copyright infringement should be sent to our designated agent, as follows:

Carolina Biological Supply Company

Attention: Copyright Agent

2700 York Road

Burlington, NC 27215

Email: copyrightagent@carolina.com

Phone: 336-584-0381 Ext. 6203

Under the Copyright Act, any notification of claimed infringement sent to us must be in writing and substantially include the following:

- Identification of the copyrighted work or intellectual property you believe has been infringed, or, i
  multiple items on our website are covered by a single notification, a representative list of such
  works at that website;
- Identification of the material that you believe is infringing or the subject of infringing activity and information that is reasonably sufficient to permit us to locate the material;
- Information reasonably sufficient to permit us to contact you, such as an address, telephone number, and, if available, an email address;
- A statement that you have a good faith belief that use of the material in the manner complained is not authorized by the owner, its agent, or the law; and
- A statement that the information in the notification is accurate, and under penalty of perjury, that you are authorized to act on behalf of the owner of an exclusive right that is allegedly infringed.

ANY COPYRIGHT OR OTHER INFRINGEMENT NOTIFICATION THAT DOES NOT FOLLOW THE ABOVE PROCEDURE WILL BE CONSIDERED INVALID AND MAY NOT RECEIVE A RESPONSE.

#### **Modification of Terms**

Carolina Biological reserves the right, from time to time, with or without notice to you, to make changes to these Terms in our sole discretion. Continued use of any part of our websites constitutes your acceptance of such changes. The most current version of these Terms, which supersedes all previous versions, can be reviewed by clicking on the "Terms of Use" hyperlink located at the bottom of any page on any Carolina Biological website.

# **No Agency**

You agree that no joint venture, partnership, employment, or agency relationship exists between you and Carolina Biological as a result of these Terms or use of any Carolina Biological website.

#### No Waiver

Any failure to enforce any of the provisions of these Terms shall not be construed to be a waiver of  $\sigma$  right to enforce such provision.

Carolina Biological operates its websites from its offices in North Carolina in the United States. You agree that these Terms will be governed and interpreted by the laws of North Carolina and the United States of America. You also agree to the exclusive venue of the state or federal courts of North Carolina for any dispute between you and Carolina Biological that arises out of, or relates to, these Terms, and you specifically consent to the personal jurisdiction of North Carolina courts. We make r representation that the Content on any Carolina Biological website is appropriate or available for use in any particular location. Those who choose to access our websites act on their own initiative and a responsible for compliance with all applicable local or other laws.

# Severability

If any portion of these Terms of Use is unlawful, void or unenforceable, that portion will be deemed severable from these Terms and will not affect the validity and enforceability of the remainder of the Terms.